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5 . 1  =  UE -3.53+s-
12 Y 6

1 1 0 . 7 6  =  13EY+9.2c

E,+0.7JE;-8.52  =  0

c= -0.7&0.49+4x8.52
2

RlMU@lZJ~&3llFl~  on’ = 1.0086654 LOKIU~

Be9 = 9.012186 ‘AWJ$l, Be’ = 8.005308L0LClBI~

,Be9+y  + ,Be*i,n’

dlk = [M(Be9)-M(Be’)-m,1]931.5

1 [9.012186-8.005308-  1.0086654]931.5

= [9.012186-9.01397341

zz
-0.0017874x931.5

zc
- 1.6649634
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G, = M i-m-Q[ w]
x

m,  = 0

Et,, = -Q = 1.66 msJFi”a

Q = E,(l +$)-k(l-f$)-&  (E,E,m,m,/cos~

0 = 900,  cos 90” = 0

Q  =  8.18(1+;)-,,(I-$) . . . . . . . . . . (1)

0 = 6(  cos 60” = ;

Q  =  10.84x++-fx  $10.84~2~4)‘~ . . . . . . . . . . (2)

07niwnia  (11,  Q  = 8.18x+-*E.

= 11.45~$  E, . . . . . . . . . . (3)
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I,.,,+, = 15.176-&E  -L.+36 72)k
5x52’  “.

3 . 7 2 6  = -fx +X9.31*

0.931-  =  3 . 7 2 6

dq =  4 . 0 0 4

E, = 16.03 aouci

9inmnl9 (31,

&I3  = 13.003354, ZHe4  = 4 . 0 0 2 6 0 3 6 ,  ,HZ  =  2 . 0 1 4 1 0 2 2
,

,CL3+ ,H2  + ,X”+,He4+5.16  LOU%

M(X*‘)  = M(C”)+M(H2)-M(He’)-&

= 13.003354+2.0141022-4.0026036-0.0055394 EMlaJ~

= 15.0174562-4.0026036-0.0055394

= 11.0148526-0.0055394

= 11.0093132 MlaJ~

aJ-JMIWI$d6~  I I .0093132 somy
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t-3
CT,’
664

m,v, = M,V,cosO

rnY”Y = M,V,sinB

yj
m,v, = tan t9

rnY”Y = d2m,E,  = d2x 1  x20 .01

m,v,  = a = J2X2XlO

.......... (1)

.......... (2)

.......... (3)

....... .(4)

.......... (5)

W&I  (4), (5) %uaunis (3)
*

tan0  = L-!?Ezl
2dTo

0 = 45”

,NL4+,He4  + ,O”+,H’+Q

%4l’Fi’l&-J  Q  = IM(N’“)+  M(He’)-M(o”)- m,,,,]931.5 LOGZ

= [14.0030744+4.0026036-  16.999133-  1.0076252/931.5

= j 18.005678 - 18.0069582]931  .S

= -0.00128x931.S

= - 1.1925 mJFl”a

~~u~~~~~lann~una7~iou
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80’8+,H’  -+ ,F’*+,n’

% = -Q[l+$]

2 . 4 5  =  - Q [  l+$

- Q  =  2.45~2
1 9

Q = -2.32 roaJz

PbZw = 205.97446, ,HZ  = 2.0141022

H’ = 1.0078252, Pbzo7 = 206.97590

$752,  Q = [M(Pb206)  + M(H*) - M(Pb”‘)  - m,w,~]931  .5 mdi

= (205.97~$46+2.0141022-206.97590-  1.0078252]931.5

= 4.837x  lO-3x931.5

= 4.5 mJ%
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d’d ‘06+,n’ --t 45Rh’06  + !H’  + Q

m,l = mHl  +&$-+Z
931.5

Loaoqj

Q = 931.5(md-  nwt 3.54 aoaJ%

= 931.5x8.402x10-4-3.54

= 0.78-3.54

= -2.76 LOUiii

E M,  + m,
ttl = -‘(  Mx > . c

8 ~

zz +2.76x(w)

= 2.76x+  ' = 2.78
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Si”* = 21.976927, SF9 = 28.976491

H2 = 2.0141022, H’ = 1.0078252

5,5



,Siz8 +,H’ +,4Si2y  + 1 H’

vmi7~aIumum

Q = [M(S?‘)  + M(H’)  - M(S?)  - m,,,,j931.5  :

= -[27.976927+2.0141022-28.976491-  1.0078252]931.5

= [29.9910292-29.9843162]931.5

= 6.713~lO-~x931.5

= 6.25 L03J%

Q = E,(l+ $)-E,(l+)

6.25  = EY(  I;&) - 1.8( 1-h)

3oE
29 '

= 6.25+ 1.8~2
29

E, = $6.25 + 1.6758)

= 2x7.9258

Q = E,(l +z)-E&-z)

6 . 0 1 2  =  ,,(l+;)-1.8(1-i)

5 6
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2. QM, + EdMy  - m,)w =
b+my
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